4-MxDP w o 2-Q1 N1 L 402
B 2 L1 N2 !
Jd i
. i A 30
. ] ! L] | | l—_- Ti o AE [T | |!" T2
Myo K 4 - == == S AuE o
¢ H ,,: 1 4
Hi ! J —
! { {—
1 [ Y 1
[}
E od
w2 owi G F
Lo .
SBI SBG 15~45 — SL / SLL Type
Mounting dimension Block dimensions Rail dimensions
Rating load | Permissible static
mounting tap hole Grease fitting Bolt fitting rating  KN) moment  KN.M) block| Rail
Model H W L E |B J M DP L1 T K JT1 N1 T2 N2 |01 02 Wil w2 |HL| F [d D h G L0 |C [60] Mro  |Mpo  [Myo (kg) | (kg)
SBG15SL 28 34 | 60.8 3 26 | 26 | M4 ) 5 |38.8] 8 25 | 8 [5.5[(8.5[4.5[ M4*0.7 4]11519.5|1 15|60 |4.5]7.5|/5.3] 20 | 3000 | 8.33 | 13.4 | 0.07 | 0.05 | 0.05 [ 0.2 | 1.45
SBI15SL 28 34 | 63.8 3 26 | 26 | M4 [ 5 [45.2] 10 | 25 [8.5]/5.5]|7.8]3.4] M4*0.7 4] 1519.5| 13 |1 60 |4.5[/7.5]5.5] 20 [ 3000 | 14.1 ] 24.1 ] 0.16 | 0.17 | 0.17 | 0.19] 0.13
SBI15SLL 28 34 | 79.4 3 26 | 34| M4 | 5 [60.8] 10 | 25 [8.5]/5.5]|7.8]3.4]| M4*0.7 4] 15(9.5| 13| 60 |4.5/7.5|5.5] 20 | 4000 | 17.1] 31.7 [ 0.21 ] 0.29 ] 0.29 [0.26]| 1.3
SBG20SL 30 44 | 77.2| 3.5 [ 32|36 | M5 | 8 [50.8f 8 [26.5] 7 |11.7] 7 5 |M6*0.75] 6] 20 | 12 |17.5| 60 | 6 |9.5)8.5] 20 | 4000 | 14.2 | 25 | 0.22 | 0.18 | 0.18 | 0.33] 0.22
SB120SL 30 44 1 78.8| 4.6 | 32|36 | M5 | 8 [56.8/9.8[25.4 6 |11.7|5.8( 5 |M6*0.75] 4| 20| 12 |16.5] 60 | 6 | 9.5]18.5[ 20 | 4000 | 22.2 | 38.2 | 0.36 | 0.33 [ 0.33 | 0.41] 2.2
SBG20SLL 30 44 193.2| 3.5 32 |5 | M| 8 [66.8] 8 [26.5] 7 |11.7] 7 5 |M6*0.75] 6] 20 [ 12 |17.5| 60 | 6 |9.5)8.5] 20 | 4000 | 16.9 | 36.5 | 0.28 | 0.31 | 0.31 [0.45]| 2.2
SBI20SLL 30 44 196.4| 4.6 | 32| 50| M5 | 8 [74.4/9.8[25.4| 6 |11.7|5.8 5 |M6*0.75] 4| 20| 12 ]16.5] 60 | 6 |9.5]18.5| 20 | 4000 | 27.9 [ 50 | 0.47 ] 0.56 | 0.56 | 0.54] 2.2
SBG25SL 40 48 186.9] 6.5 | 3|3 | M6 [ 8 [59.5] 12 |33.5[12.2|11.7|12.1 5.5 |M6*0.75] 6| 23 [12.5|21.8] 60 | 7 | 11| 9 | 20 | 4000 | 20.9 [ 39.2 | 0.35] 0.31 [ 0.3 | 0.56] 3.1
SBI25SL 40 48 92 5.5 135 [3 | M| 8 70 | 16 [34.5] 10 |11.7)9.6] 5 |M6*0.75| 4] 23 f12.5/ 20 ] 60| 7 | 11 ] 9 [ 20 | 4000 | 31.5| 52.1 | 0.56 | 0.56 | 0.56 [ 0.69 3
SBG25SLL 40 48 1106.4| 6.5 | 35| 50 | M6 [ 8 79 | 12 |33.5]12.2[{11.7]12.1) 5.5 [M6*0.75| 6] 23 [12.5[21.8] 60 | 7 | 11| 9 | 20 [ 4000 | 24.6 | 48 | 0.43 ] 0.49] 0.48 [0.73] 3.1
SBI25SLL 40 48 108 | 5.5 [ 35| 50 | M6 | 8 86 | 16 |34.5] 10 11.7/9.6] 5 [M6*0.75( 4| 23 |12.5{ 20| 60| 7 [ 11| 9 | 20 | 4000 | 36.7 | 64.4 ] 0.69 | 0.84 | 0.84 | 0.85 3
SBG30SL 45 60 99 7 40 [ 40 | M8 | 10 |70.4] 12 | 38 |11.5[11.7|11.5|5.5[M6*0.75| 6] 28 | 16 | 25| 80 | 9 [ 14 ] 12 | 20 | 4000 | 29.2 | 53.8 | 0.59 | 0.49 | 0.48 [ 0.98| 4.45
SB130SL 45 60 [107.6] 7 40| 40 | M8 | 10 [79.6f 12 | 38 [11.5[11.7]10.8] 5 |M6*0.75| 6] 28 | 16| 23|80 | 9 | 14| 12 | 20 | 4000 | 42.8 | 65.4 | 0.85 ] 0.77 | 0.77 | 1.04] 4.25
SBG30SLL 45 60 [121.5] 7 40 [ 60 | M8 | 10 |92.9] 12 | 38 |11.5[11.7|11.5|5.5[(M6*0.75| 6] 28 | 16 | 25| 80 | 9 [ 14 ] 12 | 20 | 4000 | 35.3 | 67.9 | 0.74 | 0.79 | 0.78 | 1.28| 4.45
SBI30SLL 45 60 [131.6] 7 40 | 60 | M8 | 10 [ 104 12 | 38 [11.5/11.7|10.8] 5 |M6*0.75| 6] 28 | 16 | 23|80 9 | 14 ] 12| 20| 4000 | 51.3 [ 84.7 ] 1.1 | 1.3 1.3 | 1.37] 4.25
SBG35SL 59 70 |112.6| 7.5 | 50 | 50 [ M8 | 12 |80.4| 15 |47.5] 15 |11.7[ 15| 6 |M6*0.75( 6] 34| 18| 29 | 80| 9 | 14| 12| 20 | 4000 | 38.8 | 68.6 | 0.94 [ 0.74 ] 0.72 | 1.63[ 6.4
SBI35SL 55 70 |124.6| 7.5 | 50 | 50 [ M8 | 10 |94.6] 15 |47.5| 15 ]11.7[ 15| 6 |M6*0.75| 6| 34| 18| 26 (80| 9 | 14 [ 12| 20 | 4000 [ 59.5 ] 89.1 ] 1.42 ( 1.28 | 1.28 | 1.56| 6.02
SBG35SLL 59 70 |138.1| 7.5 | 50| 72 [ M8 | 12 | 106 | 15 |47.5] 15 |11.7] 15| 6 |M6*0.75] 6| 34| 18 ]| 29 [ 80| 9 | 14 [ 12 | 20 | 4000 46 1 90.4[1.24] 1.3 | 1.28 [2.12] 6.4
SBI35SLL 55 70 |152.6f 7.5 | 50| 72 [ M8 | 10 | 123 | 15 |47.5| 15 ]11.7[ 15| 6 |M6*0.75| 6| 34| 18| 26 (80| 9 | 14 [ 12| 20 | 4000 | 71.3 |115.3] 1.83 [ 2.12 | 2.12 | 2.04| 6.02
SBG45SL 70 86 |140.4) 10 | 60 | 60 |M10| 13 [ 98 | 15 | 60 | 15 [16.5] 20 | 8 | PT1/8 6] 45 |20.5| 38 | 105 14 | 20 | 17 [22.5] 4000 | 61.6 [110.6] 1.98 | 1.56 | 1.54 | 2.96] 11.25
SB145SL 70 86 148 9 60 | 60 | M10f 13 [ 108 | 17 [ 61 [20.5/13.5]19.3[ 6.5| PT1/8 6] 45| 20| 32 |105(f 14 | 20 | 17 [22.5] 4000 | 79.2 [116.3] 2.48 ] 1.9 1.9 | 2.8 9.77
SBG45SLL 70 86 |172.4] 10 | 60 | 80 | M10| 13 [ 130 | 15 | 60 | 15 [16.5] 20 | 8 | PT1/8 6] 45 |20.5| 38 | 105 14 | 20 | 17 [22.5] 4000 | 75.5 [138.5] 2.45] 2.33 | 2.3 |3.75]11.25
SBI45SLL 70 86 180 9 60 | 80 | M10f 13 [ 140 17 [ 61 [20.5]13.5|19.3[ 6.5]| PT1/8 6] 45| 20| 32 |105f 14| 20 | 17 [22.5] 4000 | 94.8 [150.5] 3.21 ] 3.14 | 3.14 | 3.69] 9.77

0512-66099890 MP:13915553280




